@O /s LTy T

WY U EHE T YR IMRTEE © W T (W
9 veo 9 91
81°0 / ~ [ / ~ — [l =y — - 10-500-6¢ B YN ey,
— 1170 — 89°0
9 g0 9 !
S1°0 / ~ 0°1 / ~ - [y - - 10-¥00-6€ WoH WA Ny
— 050 0 — 19°0
9 61°0 9 !
210 / ~ & / ~ - e | - - 10-200-6¢ T RN
— €v0 -0 - €9°0
9 250 °0 9 29°0
2600 / ~ 1o / ~ - e | - - 16-300-6¢ geovR w4
— 61070 - Ge 0
9 L2070 9 99°0
120 °0 / ~ 6V "0 / ~ — [y — — 10-100-6¢ GYITIN W 1
- 910 °0 - 820
9 [a) 9 VL0
9L0°0 / ~ 8G°0 / ~ — [y — — 10-600-6¢ Yma L LISRIERE
- 850 °0 - 0V "0
9 G170 9 g1
760 0 / ~ 0T / ~ — [y — — 10-800-6¢ S ITI Y i L
— 790 "0 - 95 °0
9 9.0 °0 9 87 °0
750 °0 / ~ €v-0 / ~ — iy — — 10-122-6¢ | [+
— €070 - 0€°0
14 G100 14 9¢°0
€10°0 / ~ ¥€°0 / ~ — iy — — ¥6-020-6€ [kt Y11
- 600 "0 — €0
14 G100 14 1€°0
1070 / ~ 0€°0 / ~ — [y — — 10-020-6¢ Hp Y115
- 21070 — L2°0
9 8700 9 09°0
§10°0 / ~ 70 / ~ ~ e | - - 19-060-6¢ By SRR
- €000 - 920
9 €000 9 62 °0
£00°0 / ~ Lo / ~ - e | - - 16-160-6¢ e T ek 3
- €00 0> - 0r-"o
9 9000 9 €2°0
70070 / ~ 020 / ~ — iy — — 20-702-6¢ N T LN [I{Ed2
- €00 0> — S1°0
u Y o u Y
R / ~ I / ~ oW | & oA W (R0 (5 #1(1s)
w NG Xy w NG X
WM | W oW W OF| W W | SRR oW W A B
i % ¥ % %
(g ) . 13
(b)) B omowmomHF FoHOW MG W W W M OB MM YW ¥ W ¥V

HBV102 (8Wx) €N¥




A DS wma ﬁiﬂ C

e - o ﬁﬁ%mww IS woT ()
9 860 °0 9 260
8100 / womJo 120 / NmJo - [l =y - — 25-010-6€ Ay ch 45 VT
9 6100 9 0€ "0
€10°0 / Nomﬁo €2°0 / NMJO - [l =y — — 16-010-6¢ B0 [ Y15
id ¥20°0 i4 260
G10°0 / ﬂﬂmwo 920 / hwwo - e - — LG-010-6€ J T LN YT
€ 9100 g 8¢ °0
71070 / Nﬁmﬁo 620 / omJo — [l =y — — 96-010-6€ S ik YT (%
id 22070 i4 8% 0
6100 / mHmJo 0r "0 / NmJo - e - — 85-010-6€ B Y15
9 220 9 €1
L1°0 / ~ 66 0 / ~ — Ky — — 10-322-6€ ey T
- er°o - 28°0
9 11°0 9 96 °0
080 "0 / ~ 6L°0 / ~ — [y - - 10-L00-6€ SNl YL NI
- €50 °0 - £9°0
9 080 "0 9 ¥6°0
950 "0 / ~ 08°0 / ~ — [y - - 10-900-6€ Bt YT N A
- 0%0 "0 — 99 °0
9 220 9 LT
L1°0 / Hmmo e1 / mﬁﬁ - [s1] =ty — - 10-8€2-6¢ EEndie? 15
9 020 9 11
L1°0 / wﬂo 01 / NNO - HES — — 10-€00-6€ S IS Rger:
9 81°0 9 Z1
I} / ~ T°T / ~ - [l - — 26-£00-6€ I [t 1
- z1°0 — 0°T
9 gz 0 9 LT
020 / mﬂo VL / Wﬁ - HES — - 16-€00-6€ = B T Rgnr:
9 250 9 8¢
9¢°0 / wwwo €T / mﬁﬁ - e — - 10-612-6€ S H |10 T
u X ¥ u X %
[ / ~ Gr 4k / ~ 7S A IR < T 4 (& ) (%55 %11 [n})
w N W w NY W
- W oM | K| W OFE| O OB | SR P2 P 4
] 2 ¥ 3 <
(et ) o 1 [
(V) H = ¥ ¥ 52 % O OH O W W WOR 2O H O W Y W ar W

7103 (8w%x) €N




‘@Y g/ LI g
yee - o WV YRRy e 0 W T (&)
1 920 °0 a1 ¥F 0
9100 / ~ ge 0 / ~ [y — — 70-€10-6€ HL (2) AN |12}
- 110°0 - 820
1 1200 a1 LE°0
€10°0 / ~ 0€°0 / ~ HE - — €0-€10-6€ QU (1) AHEN |12}
- 900 0 - ¥2°0
i4 210°0 i4 0€ "0
110°0 / ~ 820 / ~ [l =y — — 20-€10-6€ Ll e T SN i) |12
- L00°0 - 220
1 ¥20°0 a1 8¢ °0
7100 / ~ 820 / ~ [y - — 09-€10-6€ gt |12}
- 800 "0 - LT°0
1 6100 a1 ¥E°0
€10°0 / ~ 620 / ~ [ty — — 65-£10-6€ [SR<711 [/
- 800 "0 - €270
9 220 9 11
[0} / ~ 18°0 / ~ [HES — — 20-210-6¢ Y/ th [1(11( ek
- 11°0 — 09 °0
9 910 9 2°C
11°0 / ~ T / ~ [ty - - £0-210-6¢ EAINE S s
- 060 "0 — 250
9 6200 9 690
090 "0 / ~ 0¢°0 / ~ HES — - 10-812-6€ Wiz b [1(5 1d
- S¥0 0 — ev 0
9 020 9 6°1
Gr°o / ~ vl / ~ S — - 16-870-6¢ G 1( el 1 EH et
- 11°0 — 11
9 LT°0 9 LT
z1°0 / ~ g1 J/ ~ S - - 10-870-6€ Y 1/
- 18070 — 0°T
i4 170 0 id 7570
7€0 "0 / ~ 67 "0 / ~ HE — - 10-072-6€ S (&
- 620 °0 — ev 0
9 950 °0 9 65 0
L€0°0 / ~ (Vi) / ~ HES — - T0-TT0-6€ T WL (%
- G100 — 0% "0
9 6100 9 LE°0
9100 / ~ 1€°0 / ~ HES — - 10-0T0-6€ Sl [ 16k W (%
- 21070 — 9z "0
u X ¥ u X %
[ / ~ Gr 4k / ~ 7S A IR < T 4 (& ) (%55 %11 [n})
w N W w NY W
W oM | K| W OFE| O OB | SR ueooom P 4
] 2 ¥ 3 <
(et ) o 1 [
) H Er XM oM E7 P9 ONE W oW WO 2O H W M oy 3
7103 (8w%x) €N



GRo g/su CRTYE T

e - o W YR 0 W T (&)
9 L10°0 9 €570
710°0 / ~ Ge°0 / ~ 1E — - G6-220-6€ L N+ b
- 110°0 — 61°0
iz G10°0 iz 920
0100 / ~ 12°0 / ~ 1E — — 70-220-6€ [Elh=y [+ hd
- 700 "0 — 110
9 800 "0 9 020
G000 / ~ L1°0 / ~ [l =y - — €0-230-6€ Y T hd [
— €00 0> — G170
9 G100 9 920
L00°0 / ~ 220 / ~ 51E — — 96-320-6€ ETava A |1+ hd
— €00 0> — G170
z1 L10°0 z1 1€°0
900 "0 / ~ 12°0 / ~ [l =y - — 20-230-6€ T M Y ATy |1+ & hd
— €00 0> — z1°0
6 1500 6 67 "0
020 "0 / ~ 9¢ 0 / ~ [y — — 85-320-6€ AR (M |1+ b
- 600 "0 — 820
6 2100 6 820
900 "0 / ~ 020 / ~ [l =y — - 10-220-6€ S DL I+ 4 hd
- €00 0> — 7170
9 2L0°0 9 6170
770 "0 / ~ 9¢°0 / ~ [HES — — 10-220-6¢ Ak [ 1( ek
- 6100 — 680
z1 7170 4 7T
210 / ~ 1 / ~ S - - 10-510-6€ Yl Wl (o5
- 860 "0 — 7870
i2 7170 i2 91
€10 J/ ~ [ / ~ [y — — 10-6V0-6€ A |19k
- z1°0 — T°T
9 $10°0 9 €270
900 "0 / ~ 020 / ~ [HES — - 16-810-6¢ 7 & Il 112
- £00 0> — 710
z1 €600 z1 ev 0
2200 / ~ 9¢°0 / ~ [y - — 96-€10-6€ R |1(2%2)
- €100 — 1€°0
z1 €200 z1 8670
G100 / ~ 1€°0 / ~ [y - — G5-€10-6€ Lel TSN o [1(2%)
- 0100 — €270
u Y X u X %
[ / ~ Gr ok / ~ 7S A IR < T 4 (5 ) (&5 %11 [n})
w N W w N W
- W oM | §F OB W OF| O B | SR P F 2 B2
£ 52 ¥ E2 <
(et e!) o 1 [
) H Er XM oM EF B9 OE W oW oW O HoON ¥y N W af ¥
ETE AN (8Ww%x) €N



C®o g/su Ry T

WWee - o W YR - W T (&)
9¢ 020 "0 9¢ 19°0
0700 / ~ 620 / ~ [l =y — — 95-730-6€ T &N |1/ 54 ch
- 700 "0 - cr°o
1 G100 1 ve 0
600 "0 / ~ v2'0 / ~ [l =y - - GS-120-6€ |11 |1/ 54 e
- G000 - ¥1°0
9 050 "0 9 860
860 °0 / ~ 2€°0 / ~ [l =y - — VS$-120-6€ Uiz |1/ 54 e
- 620 "0 - 12°0
id G50 °0 i4 6% 0
Zv0 "0 / ~ 70 / ~ [l =y — - 10-720-6€ 25l |1/ 54 e
- GE0 "0 - 620
9 690 °0 9 8L°0
250 °0 / ~ 29°0 / ~ [l =y - — 25-V20-6€ 2. 1/ 54 ch
- G%0 "0 - €5°0
9 L¥0°0 9 95 "0
1200 J/ ~ 9¢ "0 / ~ [ty — — €5-720-6€ WH X |1/ chr
- 800 "0 - 820
id €200 i4 0€ "0
L10°0 / ~ 220 / ~ [l =y - - 10-€20-6€ Wiz [
- €100 - cr o
9 €20 °0 9 ¥F 0
€10°0 / ~ vE 0 / ~ =y - — 10-G12-6¢ S |14 70
- €00 °0 - gz 0
1 110°0 1 1270
700 "0 / ~ 61°0 / ~ S — — 10-170-6€ By [IRE 3
- €00 "0> - 210
9 600 "0 9 0¢ "0
G000 / ~ vZ 0 / ~ [HES — — VS-170-6€ CNOH T & Bk |11 44
- €00 "0> - LT°0
9 2L0°0 9 0°T
LV0 "0 / ~ 2.0 / ~ HES — — 10-G72-6€ MWL+ & =R
- Ge0 0 — 0% 0
9 81°0 9 LT
010 / ~ 16 °0 / ~ [HES - - 10-920-6€ B |1 X
- S¥0 0 — 8% 0
8 010 8 G6°0
090 "0 / ~ L0 / ~ HES — - 10-920-6€ B 2 3 [ HHT)
- $20°0 — 9% 0
u Y X u X %
[ / ~ Gr ok / ~ 7S A IR < T 4 (5 ) (&5 %11 [n})
w N W w N W
- W oM | §F OB W OF| O B | SR oW F 2 B2
£ 2 ¥ 3 <
(et e!) o 1 [
) H Er XM oM EF B9 OE W oW WO 2O H W w oy a7
ETE AN (8Ww%x) €N



CRa g/su CRITYH T

e o o W YA E e o W T ()
9 700 "0 9 Ge 0
€00 "0 / ~ 0€°0 / ~ [HES — - 10-8€0-6¢ A 113
— £00 "0> - 20
9 600 "0 9 170
G000 / ~ 7670 / ~ [l =ty — - 10-L£0-6€ Ay = [} |1 FH
— £00 "0> - 920
1 210°0 1 020
900 "0 / ~ 710 / ~ HEN — — LS-120-6€ H 11 e
— £00 "0> - 60°0
u Y X u X %
Gr 4k / ~ Gr ok / ~ /S A IR < T i 6 (& 5r) (& %111 u})
w N W w N1 W
W oM | § OB W OF| O OE | SR oW % M
(et ) [1f uk
) H H XM oM EF O g ow oW WO 2 O H oW w oy a7
7103 (8w2x) ey



‘C@d /U CRIIE T
e o o W YR - W T ()
9 G000 9 8670 (G0)
€00 °0 / ~ v2'0 / ~ Iz e ¥ il 10-€09-6€ NCEHT & Y N T & B
0 €00 0> 0 910
9 26070 9 0€ "0 (¥0)
0100 / ~ €2°0 / ~ 2N e ¥ il 10-209-6€ NI & M2 NCEH T & M2
14 €00 0> 0 LT°0
9¢ $10°0 9¢ 0€ "0 (€0)
900 "0 / ~ 61°0 / ~ 267 [y ¥ I 10-106-6€ TNCERT & B HE e TNCERT & B HE e
€00 0> 0 z1°0
z1 600 "0 z1 0€ "0 (€0)
G000 / ~ 020 / ~ B HES ¥ I 10-109-6€ TNCERT & Y He e TNCERT & Y HE
£00 0> 0 G170
z1 $10°0 4 gz 0 (€0)
900 "0 / ~ 020 / ~ B(th [y iz I 10-10S-6€ THNCERT & Y He e THNCERT & Y He e
£00 0> 0 910
z1 600 "0 4 €270 (€0)
900 "0 / ~ 91°0 / ~ B [y i3 I 10-10S-6€ THNCERT & Y Hier TNCEET & Y He e
£00 0> 0 z1°0
u X ¥ u X %
Gr ok / ~ Gr ok / ~ 7S A IR < T 4 (& 5r) (%5 %11 [nd)
w N W w N1 W
W oM | 8 K| W OFE| O OE | SR P2 P 4
£ 52 ¥ B2 <
(et e!) u LI
) H Hr XM oM E7 B9 ONE W oW oM O HoON ¥y N W af ¥
7103 (8Ww2x) €N



